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1. 4+a=4+6=10
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2a-6=6-6=0
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3. ab=6e8 =48
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4. 2xor xe2




image5.jpg
5. 50 + 250r 25 + 50
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6. 40 +5
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7. 3.1+ (86 + m) = (3.1 + 8.6) + m Associative
Property
of Addition

=11.7+m Add 3.1and 8.6.
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9. 3(15w) = (3 15)w Associative Property
of Multiplication

= 45w Multiply 3 and 15.
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10. 4(x + 8) = 4(x) + 4(8) = 4x + 32
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1. 12(y - 5) = 12(y) - 12(5) = 12y - 60




image12.jpg
12. g +2) -6 =4(q) +4(2) -6
=4g+8-6
=49 +2
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13 3(2 + 57) + 11 = 3(2) +3(5r) + 11
=6+15r +11
=15r +6 +11
=15r +17
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9. 3(15w) = (3 15)w Associative Property
of Multiplication

= 45w Multiply 3 and 15.
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14. s + 35 +4s =1s + 35 + 4s
=(1+3+4)s
=8s
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15. 4 -2 -2t +7 =4 -2t -2+7
=(4—2)t—2+7
=2t+5
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16. Factors of 18: 1, 2, 3,(9, 9, 18
Factors of 24: 1,2, 3, 4,(6), 8, 12,24
The GCF of 18 and 24 is 6.

18 + 24 = 6(3) + 6(4)
=6(3+4)




image17.jpg
17. Factors of 40: 1,2, 4, 5,(3), 10, 20, 40
Factors of 16: 1,2, 4,®, 16
The GCF of 40 and 16 is 8.

40 -16 = 8(5) - 8(2)
=8(5-2)
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18. 53x +4)
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19. 8(4x - 5y)
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20. Length of game: 90 + x = 90 + 4 = 94

A game with 4 minutes of stoppage time is 94 minutes
long.




image21.jpg
21. Volume: 150 xe6 =156  x = 90x
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22. Amount of ribbon: 9n
Total cost of ribbon: %n]

Note: There are 36 inches in 1 yard, so 9 inches are

equivalent to % yard.
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